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KIRFF AERFEERLFHES K B a3 PN R e e BT
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
KIRAF KRFEEEFHEE KR AT N ER T R AR B
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES =EEMFET
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7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.188 15 0.164 - -
0.249 2.0 0.156 - -
2%| 3 0.009 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.008 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
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=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE BB BRI/ \iBTh
RN E— IRMERE | gy | same | memEn | mRN | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEER T E Rty
PN AERFEERLFHES HBEESET
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.065 15 0.041 - -
0.126 2.0 0.033 - -
2%| 3 0.009 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.008 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
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SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
PN AERFEERLFHES REVFFAT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE REF&ET
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE REFEET
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES REFRERT
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
KIRAF KRFEEEFHEE AN/ \BTH
RN I RMERE | gy | swme | memEw | mRe | 2enRw | BER
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES A REIH
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
KIRAF KRFEEEFHEE REbFEAT
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE REFARE)IH
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEER T E Rty
PN AERFEERLFHES AN R = A0 FHT
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% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
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= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
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7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — —
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE AR AR F BB R PR ET
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE EERE®ET
R4 I TIBEEIE | _gaug | spme | memEs | BRE | BeDES | BERY
=7 =IE HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES EEEFAH
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
KIRAF KRFEEEFHEE EERARKT
RN I RMERE | gy | swme | memEw | mRe | 2enRw | BER
= =IE HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES EEREET
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
KIRAF KRFEEEFHEE EER=AWH
RN I IRMERE | gy | same | memEn | mRe | 2enRw | BER
=7 =E HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE EER/NHH
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= *AE TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEER T E Rty
PN AERFEERLFHES EER=HT
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7 AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
KIRAF KRFEEEFHEE EERFKT
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= =IE TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
PN AERFEERLFHES EEEMEH
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE TEEJIDERESR )BT
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE EERZ AL AT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
=7 =IE HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES ZREZBEH
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER TAEIGE R s TAEIGE R s
% % % % %
78 A TYIRAR 12| i 0.009 1.4 0.001 - -
o) 0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
fMEFES HEER et E frtthig
KIRAF KRFEEEFHEE ZREXMSHET
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= = HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES ZREXRFERLT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 = SRS HH0EE ZAER TAEIGE R s TAEIGE R s
% % % % %
78 A TYIRAR 12| i 0.009 1.4 0.001 - -
o) 0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
KIRAF KRFEEEFHEE ZREXET
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE ZREERT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= *AE TR AR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
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% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
KIRAF KRFEEEFHEE ZREMAT
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= =IE TR LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
PN AERFEERLFHES ZRIBAET
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 AE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE ZREFEH
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= *AE TR LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE ZREEET
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% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRFF AERFEERLFHES ZREFER
NN — TIBERE | _gpin | sopme | memEs | Gme | Bep®Ey | SERM
7 *AE SRS L SIOF=F 3 ZAER AT R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
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% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
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% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fEFES HEER T E frtthig
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% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
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78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
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78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — —
<) 0.076 1.9 0.001 - -
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% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
PN AERFEERLFHES MPLELD)ITH
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 xAE SRS HH0EE ZAER AT s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -
fMEFES HEER T E frtthig
KIRAF KRFEEEFHEE MILEEHT
SN I— TIBIERIE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
=7 = HAREEDA LES IO =F T AR EEBER g EEBER s
% % % % %
78 iAo TYIRAR 1% 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -




HEFFER HEER T E frtthig
KIRAF KRFEEEFHEE EL S R BB AE S BF AT
N I — TIBIERE | _gaus | sopme | memaw | GBE | 2en®RE | BEBRS
= > HAREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
PN KRFEELFHEE AL EFHE N DO EH
NN N TIBIEEE | _mus | mpme | mewEd | SRR | REDEE | BERE
7 AE SRS L SIOF=F 3 ZAER TAEIGE R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
o) 0.077 1.9 0.001 - -
3% = 0.007 1.4 0.001 — -
<) 0.076 1.9 0.001 - -
HEFFER HEER T E frtthig
KIRAF KRFEEEFHEE AL E A HERL)IET
SN I— TIBIERE | _gaus | sopme | memaw | GBE | 2en®Ry | BEBRS
= > HEREEDA LES IO =F T AR EEBER s EEBER s
% % % % %
78 iAo TYIRAR 1Z| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 — —
2%| = 0.008 14 0.001 - -
=l 0.077 1.9 0.001 - -
3% = 0.007 14 0.001 - -
=l 0.076 1.9 0.001 - -
EEFFER HEES T E Rty
KIRAF AERFEERLFHES LEEELT
NN — TIBERE | _gpin | sopme | RemEs | mRe | Bep®y | SERM
7 AE SRS HH0EE ZAER TAEIGE R s TAEIGE R s
% % % % %
78 A TYIRAR 12| 2 0.009 1.4 0.001 - -
0.078 1.9 0.001 - -
2%| 3 0.008 14 0.001 - -
<) 0.077 1.9 0.001 - -
3% i 0.007 1.4 0.001 — -
o) 0.076 1.9 0.001 - -




AR (AFHERER, BEMERREHETE, RENERE, RENEFREREERUBRISNERE)

HEBHDIELE
=
HEFES HEES et B thig
KR FF KRFEEEFHEE —
128 A
PN TMBERE | _gpan | same | memEn | 2BRE | Ben®Ew | SRR
RS S BHogaE 1EHER EEBER HpEE EEBER R
% % % % %
158 £HFEAR 1% = 4414 5.1 3415 — -
=l 4450 56 3.319 - -
2% = 2.874 36 2.283 — -
=l 3.052 47 2.173 - -
3% = 1.784 26 1.456 — -
=l 2.085 41 1.360 - -
FHEZRAR 2% = 3.286 37 2.673 — -
=l 3478 5.0 2514 - -
3% = 2.041 26 1.721 — -
=l 2.400 44 1.594 - -
4%| = 1.218 2.1 1.035 — -
=l 1.710 43 0.930 - -
KEWRAHEEFAK 9% 3 4164 6.1 2.900 - -
=l 4189 6.6 2.789 - -
8% = 2.695 42 1.942 — -
=l 2.869 5.3 1.827 - -
7% = 1.634 30 1.193 — -
£l 1.937 45 1.100 - -




fMEFES HEES T E frtthig
KIRFF AERFEERLEFHES KR AFRR ™
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| i3 11.761 28 11.383 - -
=l 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
=l 8.619 6.2 7.328 - -
3% = 4.835 25 4539 - -
=l 5.157 6.5 3.793 - -
4% B L TYIRAR 1Z| 3 1.783 1.7 1.692 - -
" 2.391 49 1.456 - -
2%| = 0.775 1.5 0.744 - -
=l 1.569 48 0.659 - -
3% = 0.165 1.5 0.134 - -
=l 1.057 5.0 0.086 - -
103 #h(>TYIRAR 1% i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 15 1.007 - -
=l 1.557 36 0.959 - -
115 /o TvoRAR 1Z| i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 1.5 1.007 - -
=l 1.557 36 0.959 - -
MEFES HEEL #iEt B G tthisg
KIRFF ARFEERLFHES KERFFR T
V- | P
NN — THMERE | —mym | spme | mewmEn | GRH | RERRN | ERRE
SRS HHU0EE BER BERER i BERER i
% % % % %
3% iAo T I RAN 12| = 11.791 3.2 11.307 — -
o) 11.792 70 9.946 - -
2%| = 8.570 25 8.274 - -
o) 8.619 6.2 7.328 - -
3% i 4835 25 4.539 - -
o) 5.157 6.5 3.793 - -
448 AU TYIRAER 1% i 1.944 1.9 1.812 - -
o) 2.510 5.1 1.521 - -
2%| = 0.775 15 0.744 - -
o) 1.569 48 0.659 - -
3% i 0.165 15 0.134 - -
<) 1.057 5.0 0.086 - -
1058 iAo FvoRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
o) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
o) 1.557 36 0.959 - -
1M Ao FvIRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
<) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
<) 1.557 36 0.959 - -




fMEFES HEES T E frtthig
KIRFF AERFEERLEFHES ARFFEFET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 11.761 28 11.383 - -
=l 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
=l 8.619 6.2 7.328 - -
3% = 4.835 25 4539 - -
=l 5.157 6.5 3.793 - -
4% B L TYIRAR 1Z| 3 1.783 1.7 1.692 - -
" 2.391 49 1.456 - -
2%| = 0.775 1.5 0.744 - -
=l 1.569 48 0.659 - -
3% = 0.165 1.5 0.134 - -
=l 1.057 5.0 0.086 - -
103 #h(>TYIRAR 1% i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 15 1.007 - -
=l 1.557 36 0.959 - -
115 /o TvoRAR 1Z| i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 1.5 1.007 - -
=l 1.557 36 0.959 - -
MEFES HEEL #iEt B G tthisg
KIRFF ARFEERLFHES ARFEdH
V- | P
NN — THMERE | —mym | spme | mewmEn | GRH | RERRN | ERRE
SRS HHU0EE BER BERER i BERER i
% % % % %
3% iAo T I RAN 12| = 11.761 28 11.383 — -
o) 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
o) 8.619 6.2 7.328 - -
3% i 4835 25 4.539 - -
o) 5.157 6.5 3.793 - -
448 AU TYIRAER 1% i 1.783 1.7 1.692 - -
o) 2.391 49 1.456 - -
2%| = 0.775 15 0.744 - -
o) 1.569 48 0.659 - -
3% i 0.165 15 0.134 - -
<) 1.057 5.0 0.086 - -
1058 iAo FvoRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
o) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
o) 1.557 36 0.959 - -
1M Ao FvIRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
<) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
<) 1.557 36 0.959 - -




fMEFES HEES T E frtthig
KIRFF AERFEERLEFHES AR FFthETT
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 11.761 28 11.383 - -
=l 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
=l 8.619 6.2 7.328 - -
3% = 4.835 25 4539 - -
=l 5.157 6.5 3.793 - -
4% B L TYIRAR 1Z| 3 1.783 1.7 1.692 - -
" 2.391 49 1.456 - -
2%| = 0.775 1.5 0.744 - -
=l 1.569 48 0.659 - -
3% = 0.165 1.5 0.134 - -
=l 1.057 5.0 0.086 - -
103 #h(>TYIRAR 1% i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 15 1.007 - -
=l 1.557 36 0.959 - -
115 /o TvoRAR 1Z| i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 1.5 1.007 - -
=l 1.557 36 0.959 - -
MEFES HEEL #iEt B G tthisg
KIRFF ARFEERLFHES AIRFFWRETT
V- | P
NN — THMERE | —mym | spme | mewmEn | GRH | RERRN | ERRE
SRS HHU0EE BER BERER i BERER i
% % % % %
3% iAo T I RAN 12| = 11.722 3.1 11.263 — -
o) 11.723 6.7 10.066 - -
2%| = 8.570 25 8.274 - -
o) 8.619 6.2 7.328 - -
3% i 4835 25 4.539 - -
o) 5.157 6.5 3.793 - -
448 AU TYIRAER 1% i 1.825 1.9 1.693 - -
o) 2.410 5.1 1.426 - -
2%| = 0.775 15 0.744 - -
o) 1.569 48 0.659 - -
3% i 0.165 15 0.134 - -
<) 1.057 5.0 0.086 - -
1058 iAo FvoRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
o) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
o) 1.557 36 0.959 - -
1M Ao FvIRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
<) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
<) 1.557 36 0.959 - -




fMEFES HEES T E frtthig
KIRFF AERFEERLEFHES ARFFRKET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 11.761 28 11.383 - -
=l 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
=l 8.619 6.2 7.328 - -
3% = 4.835 25 4539 - -
=l 5.157 6.5 3.793 - -
4% B L TYIRAR 1Z| 3 1.783 1.7 1.692 - -
" 2.391 49 1.456 - -
2%| = 0.775 1.5 0.744 - -
=l 1.569 48 0.659 - -
3% = 0.165 1.5 0.134 - -
=l 1.057 5.0 0.086 - -
103 #h(>TYIRAR 1% i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 15 1.007 - -
=l 1.557 36 0.959 - -
115 /o TvoRAR 1Z| i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 1.5 1.007 - -
=l 1.557 36 0.959 - -
MEFES HEEL #iEt B G tthisg
KIRFF ARFEERLFHES KRS #ET
V- | P
NN — THMERE | —mym | spme | mewmEn | GRH | RERRN | ERRE
SRS HHU0EE BER BERER i BERER i
% % % % %
3% iAo T I RAN 12| = 11.761 28 11.383 — -
o) 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
o) 8.619 6.2 7.328 - -
3% i 4835 25 4.539 - -
o) 5.157 6.5 3.793 - -
448 AU TYIRAER 1% i 1.783 1.7 1.692 - -
o) 2.391 49 1.456 - -
2%| = 0.775 15 0.744 - -
o) 1.569 48 0.659 - -
3% i 0.165 15 0.134 - -
<) 1.057 5.0 0.086 - -
1058 iAo FvoRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
o) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
o) 1.557 36 0.959 - -
1M Ao FvIRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
<) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
<) 1.557 36 0.959 - -




fMEFES HEES T E frtthig
KIRFF AERFEERLEFHES AiRFFRIET
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 11.761 28 11.383 - -
=l 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
=l 8.619 6.2 7.328 - -
3% = 4.835 25 4539 - -
=l 5.157 6.5 3.793 - -
4% B L TYIRAR 1Z| 3 1.783 1.7 1.692 - -
" 2.391 49 1.456 - -
2%| = 0.775 1.5 0.744 - -
=l 1.569 48 0.659 - -
3% = 0.165 1.5 0.134 - -
=l 1.057 5.0 0.086 - -
103 #h(>TYIRAR 1% i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 15 1.007 - -
=l 1.557 36 0.959 - -
115 /o TvoRAR 1Z| i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 1.5 1.007 - -
=l 1.557 36 0.959 - -
MEFES HEEL #iEt B G tthisg
KIRFF ARFEERLFHES ABRFFSFOH
V- | P
NN — THMERE | —mym | spme | mewmEn | GRH | RERRN | ERRE
SRS HHU0EE BER AT i AT i
% % % % %
3% iAo T I RAN 12| = 11.761 28 11.383 — -
o) 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
o) 8.619 6.2 7.328 - -
3% i 4835 25 4.539 - -
o) 5.157 6.5 3.793 - -
448 AU TYIRAER 1% i 1.783 1.7 1.692 - -
o) 2.391 49 1.456 - -
2%| = 0.775 15 0.744 - -
o) 1.569 48 0.659 - -
3% i 0.165 15 0.134 - -
<) 1.057 5.0 0.086 - -
1058 iAo FvoRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
o) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
o) 1.557 36 0.959 - -
1M Ao FvIRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
<) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
<) 1.557 36 0.959 - -




fMEFES HEES T E frtthig
KIRFF AERFEERLEFHES AIRFFRA T
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 11.761 28 11.383 - -
=l 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
=l 8.619 6.2 7.328 - -
3% = 4.835 25 4539 - -
=l 5.157 6.5 3.793 - -
4% B L TYIRAR 1Z| 3 1.783 1.7 1.692 - -
" 2.391 49 1.456 - -
2%| = 0.775 1.5 0.744 - -
=l 1.569 48 0.659 - -
3% = 0.165 1.5 0.134 - -
=l 1.057 5.0 0.086 - -
103 #h(>TYIRAR 1% i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 15 1.007 - -
=l 1.557 36 0.959 - -
115 /o TvoRAR 1Z| i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 1.5 1.007 - -
=l 1.557 36 0.959 - -
MEFES HEEL #iEt B G tthisg
KIRFF ARFEERLFHES KERFFRART
V- | P
NN — THMERE | —mym | spme | mewmEn | GRH | RERRN | ERRE
SRS HHU0EE BER BERER i BERER i
% % % % %
3% iAo T I RAN 12| = 11.722 3.1 11.263 — -
o) 11.723 6.7 10.066 - -
2%| = 8.570 25 8.274 - -
o) 8.619 6.2 7.328 - -
3% i 4835 25 4.539 - -
o) 5.157 6.5 3.793 - -
448 AU TYIRAER 1% i 1.825 1.9 1.693 - -
o) 2.410 5.1 1.426 - -
2%| = 0.775 15 0.744 - -
o) 1.569 48 0.659 - -
3% i 0.165 15 0.134 - -
<) 1.057 5.0 0.086 - -
1058 iAo FvoRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
o) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
o) 1.557 36 0.959 - -
1M Ao FvIRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
<) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
<) 1.557 36 0.959 - -




fMEFES HEES T E frtthig
KIRFF AERFEERLEFHES KiRFF/NEH
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 11.164 25 10.868 - -
=l 11.165 6.0 9.796 - -
2%| = 8.283 25 7.987 - -
=l 8.350 6.2 7.059 - -
3% = 4511 25 4215 - -
=l 4.852 6.5 3.488 - -
4% B L TYIRAR 1Z| 3 1.166 15 1.134 - -
" 1.877 45 1.031 - -
2%| = 0.684 1.5 0.653 - -
=l 1.484 48 0.574 - -
3% = 0.081 1.5 0.050 - -
=l 0.977 5.0 0.006 - -
103 #h(>TYIRAR 1% i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 15 1.007 - -
=l 1.557 36 0.959 - -
115 /o TvoRAR 1Z| i3 3.762 2.2 3543 - -
=l 4.075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
=l 2.461 38 1.811 - -
3% = 1.032 1.5 1.007 - -
=l 1.557 36 0.959 - -
MEFES HEEL #iEt B G tthisg
KIRFF ARFEERLFHES KIRFFRIEEFT
V- | P
NN — IBIERIE | _gan | spme | memEw | GRE | BenRE | BERS
SRS HHU0EE BER BERER i BERER i
% % % % %
3% iAo T I RAN 12| = 11.761 28 11.383 — -
o) 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
o) 8.619 6.2 7.328 - -
3% i 4835 25 4.539 - -
o) 5.157 6.5 3.793 - -
448 AU TYIRAER 1% i 1.783 1.7 1.692 - -
o) 2.391 49 1.456 - -
2%| = 0.775 15 0.744 - -
o) 1.569 48 0.659 - -
3% i 0.165 15 0.134 - -
<) 1.057 5.0 0.086 - -
1058 iAo FvoRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
o) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
o) 1.557 36 0.959 - -
1M Ao FvIRAR 1% i 3.762 2.2 3543 - -
o) 4075 43 3.301 - -
2%| = 2.035 1.7 1.950 - -
<) 2.461 38 1.811 - -
3% i 1.032 15 1.007 - -
<) 1.557 36 0.959 - -




fMEFES HEES #iat B A tthig
KIRFF AERFEERLEFHES KIRFF = HMAT
VN~ | A
N — TUBIAEE | g | xmme | memEn | Gme | genRw | BERM
- TR AR BHUOEE T AR EEBER iR EEBER iR
% % % % %
3 Ao TYIRAR 1Z| 3 11.761 28 11.383 - -
=l 11.762 6.4 10.186 - -
2%| = 8.570 25 8.274 - -
=l 8.619 6.2 7.328 - -
3% = 4.835 25 4539 - -
=l 5.157 6.5 3.793 - -
4% B L TYIRAR 1Z| 3 1.783 1.7 1.692 - -
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